
Solution 
Random Index Table RI 0 0 0.58 0.89 1.12 1.24 1.32 1.41 1.45( ) Defined in the AHP algorithm
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Generate Comparable Performance Indices
For a performance index, higher is always better and zero is not good to use
because it does not allow ratios relative to it. Our scale is from 1 (reference)
to 10 (extremely good). I will use a linear model. Nonlinear models are possible,
but not used for this exercise.
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Criteria Pairwise Comparison

I will use the reference comparisons done as part of the NASA example.
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I put the scoring
of the alternatives
into a single array.
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Final Results
DECISION CRITERIA

PAIR‐WISE COMPARE Emissions Fuel Cost Range Vehicle Cost
Emissions 1.00 1.00 5.00 5.00
Fuel Cost 1.00 1.00 5.00 5.00
Range 0.20 0.20 1.00 3.00
Vehicle Cost 0.20 0.20 0.33 1.00

CRITERIA MATRIX Emissions Fuel Cost Range Vehicle Cost Pref. Vector
Propane 0.08 0.12 0.31 0.48 0.41 Emissions
Hybrid Electric 0.12 0.08 0.63 0.45 x 0.41 Fuel Cost
Electric 0.80 0.80 0.06 0.07 0.11 Range

0.06 Vehicle Cost
GREEN VEHICLE OPTIONS

MATRIX CALCULATIONS Propane Hybrid Elec. Electric
Final Scores 0.15 0.18 0.67

SELECTED VEHICLE 

PC Criteria α
T Preference 


